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Math 322 Review Worksheet

These problems will help you review for exam 2. This is not a comprehensive review; it is just

t to help you get started. T o~ - < ]
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b. Find all vectors in R* which are orthogonal to v.
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2. Ineach case, decide if the matrix M is diagonalizable, is not diagonalizable, or if there is not
Note: A=O mMeans M5 aor javerhble

enough information to decide.
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a. M isa 3x3 matrix with eigenvalues 0, 4, and 8.
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b. M isa 4x4 matrix with eigenvalues 1, 4 and 8.
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c. M isa 5x5 matrix with three eigenvalues, two of which have 1-dimensional
eigenspaces and one with a 2-dimensional eigenspace.
ﬁgﬁ“ Y cﬁ@ﬁm&% (2o @Em : &Mﬁﬁﬁ%a}.&ﬁ of m@w«:@ HELL Al
v ie 2 = 4 wileb -
The $ of calgsmrs o M.




Math 322 -
2.
3. The matrix 4=|- 0 -
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4. Let A=| 1 2 3 -=1|. (Useyour own paper for this | problem.)
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a. Find abasis for

b. Find abasis for

1
Let x=
1

1

Col 4.

Nul 4.

. Verify x isin Nul4, and then find the coordinate vector for X in terms of

your basis for Nul 4.
c. Is your basis for Nul 4 orthogonal? Is it orthonormal? Explain briefly.
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